

Progress Estin 6	mate Number	Contract ID Prime Contractor	191018-C02 Ideker, Inc.	Pay Period Start Pay Period End	August 2, 2020 August 15, 2020	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,019,473.21 (\$13,414.37) \$2,006,058.84	
Approval Date							By User	
August 17, 2020		Ge	enerated and A	pproved (and should	l be considered Dr	aft) at the Project Office Level by	baldwc2	
August 17, 2020		Reviev	ved and Approv	ved (and should be c	considered Draft) a	t the Resident Engineer Level by	penner1	
August 18, 2020			R	Reviewed and Approv	ved at the Central	Office Controllers Office Level by	greggd1	
Original Comp	letion Date	Current Complet	Current Completion Date Actual Completion Date % of Current Contract Am					
November	1, 2020	November 1, 2	2020			97.55%		

#### No Milestones Exist for Contract

Contract Total Pa	ay For Estimate	e No. 6							
	To Date								
191018-C02 Contract Total Pa tems Paid This Es	Gross Ite Incentive Disincent Liquidate Other Co	ive d Damage ntract Adjust	ts (\$4,000.00) \$0.00 \$0.00 \$0.00 \$0.00	\$1,952 (\$64,82 \$0.00 \$0.00 \$0.00 \$0.00 \$1,888		\$1,956,8 (\$68,827 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$1,888,0	.78)		
Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount		
J4S3210	0370	8051000A	SEEDING - COOL SEASON MIXTURES	ACRE	\$10,000.000	0.4	\$4,000.00		
Project J4S3210	\$4,000.00								
Overall - Total \$4,000									

### Contract Adjustments This Estimate

### No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
I4S3210	0040	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)	Material			-10,428.5	\$68.23	(\$711,536.56)
	0040	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0010) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	10,428.5	\$68.23	\$711,536.56
	0070	6 IN. CONCRETE MEDIAN STRIP	Material			-166.7	\$80.20	(\$13,369.34)
	0070	6 IN. CONCRETE MEDIAN STRIP	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0011) due to user baldwc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	166.7	\$80.20	\$13,369.34
	0080	CONCRETE SIDEWALK, 4 IN.	Material			-1,378	\$54.35	(\$74,894.30)
	0080	CONCRETE SIDEWALK, 4 IN.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0012) due to user baldwc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	1,378	\$54.35	\$74,894.30
	0090	MISC.	Material			-5	\$1,655.95	(\$8,279.75)
	0090	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0013) due to user baldwc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	5	\$1,655.95	\$8,279.75



Prog	ress E	stimate Number 6	Contract Prime Co			Pay Period End August 15, 2020 Net Cha	Contract An nge Order An Contract Am	nount (\$1	,019,473.21 (3,414.37) ,006,058.84
Project Number	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
4S3210	0150	DOWEL BAR ( FURNIS INSTALLATION) F DEPTH PAVEMEN	HING AND FOR FULL	Material			-529	\$6.25	(\$3,306.25
	0150	DOWEL BAR ( FURNIS INSTALLATION) F DEPTH PAVEMEN	HING AND FOR FULL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0014) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	529	\$6.25	\$3,306.25
	0160	FURNISHING AND BITUMINOUS I FOR CLASS E DEPTH PAVEMEN	MATERIAL B PARTIAL	Material			-70	\$270.48	(\$18,933.60
	0160 FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR		MATERIAL B PARTIAL	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0015) due to user baldwc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.	70	\$270.48	\$18,933.60
	0250		MISC.	Material			-54	\$1,695.45	(\$91,554.30
	0250		MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	54	\$1,695.45	\$91,554.30
	0320	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS				Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-544	\$0.16	(\$87.04
	0320	6 IN. WHITE HI WATERBORNE P MARKING PAIN	AVEMENT	Material			-39,408	\$0.16	(\$6,305.28
	0320	6 IN. WHITE HI WATERBORNE P MARKING PAIN	AVEMENT	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 23 on the current Payment Estimate.	544	\$0.16	\$87.04
	0320	6 IN. WHITE HI WATERBORNE P MARKING PAIN	AVEMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user baldwc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	39,408	\$0.16	\$6,305.28
	0330	6 IN. YELLOW HI WATERBORNE P MARKING PAIN	AVEMENT	Material			-31,607	\$0.16	(\$5,057.12
	0330	6 IN. YELLOW HI WATERBORNE P MARKING PAIN	AVEMENT	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0017) due to user baldwc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.	31,607	\$0.16	\$5,057.12
	0350	COLDMILLING BIT PAVEMENT FOR OF SURFAC THICK	REMOVAL	Overrun		Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).	-3,412.4	\$1.66	(\$5,664.58
	0350	COLDMILLING BIT PAVEMENT FOR OF SURFAC THICK	REMOVAL	Overrun		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user baldwc2 overridding Payment Estimate Exception 24 on the current Payment Estimate.	3,412.4	\$1.66	\$5,664.5
	0370	SEEDING - COOI	L SEASON	Overrun		-	-0.2	\$10,000.00	(\$2,000.00



Prog	jress E	stimate Number 6	Contract Prime Co		191018-C02 deker, Inc.	Pay Period Start Pay Period End	August 2, 2020 August 15, 2020	Net Cha	Contract Am nge Order An Contract Am	nount (\$	,019,473.21 13,414.37) ,006,058.84														
Project lumber	Line No.	Item Descrip	otion	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount														
4S3210		I	MIXTURES																						
	0370	SEEDING - COO	L SEASON MIXTURES	Material					-0.4	\$10,000.00	(\$4,000.00														
	0370	SEEDING - COO	L SEASON MIXTURES	Overrun		generated Ove Adjustment	nt offsets the origina errun Payment Estir (0004) overridding n 25 on the current	nate Item Payment	0.2	\$10,000.00	\$2,000.00														
	0420 SH-FLAT SHEET - SIGNAL		T - SIGNAL SIGN	Material					-76	\$50.50	(\$3,838.00														
			T - SIGNAL SIGN	Material		This adjustmen generated Ove Adjustment overridding Pay on the	76	\$50.50	\$3,838.00																
	0490	BASE, C	ONCRETE	Material					-8.8	\$2,420.00	(\$21,296.00														
	0490	BASE, C	ONCRETE	Material		generated Ove Adjustment overridding Pay	nt offsets the origina errun Payment Estir t (0019) due to use rment Estimate Exc e current Payment	nate Item r baldwc2 eption 20	8.8	\$2,420.00	\$21,296.00														
	0530 CONCRETE FOOTINGS, EMBEDDED		Overrun			Adjustment from th nent estimates of '0 applied (if r	.00000' is	-0.39	\$1,000.00	(\$390.00															
	0530	CONCRETE F E	OOTINGS, MBEDDED	Overrun		generated Ove Adjustment overridding Pay	nt offsets the origina errun Payment Estir t (0006) due to use ment Estimate Exc e current Payment	nate Item r baldwc2 eption 26	0.39	\$1,000.00	\$390.00														
	0580	2.5 IN. PSST POS	ST - 12 GA.	Overrun			Adjustment from th nent estimates of '0 applied (if r	.00000' is	-15	\$15.00	(\$225.00														
	0580	2.5 IN. PSST POS	ST - 12 GA.	Overrun		generated Ove Adjustment overridding Pay	nt offsets the origina errun Payment Estir t (0007) due to use rment Estimate Exc e current Payment	nate Item r baldwc2 eption 27	15	\$15.00	\$225.00														
	0600	SH-FL	AT SHEET	Overrun			Adjustment from th nent estimates of '0 applied (if r	.00000' is	-5	\$25.00	(\$125.00														
	0600	SH-FL	SH-FL	SH-FLA	SH-FLAT	SH-FLAT S	SH-FLAT SHE	SH-FLAT SHEET		0 SH-FLAT SHEET		00 SH-FLAT SHEET		SH-FLAT SHEET Overrun		H-FLAT SHEET Overrun		Overrun		generated Ove Adjustment overridding Pay	nt offsets the origina errun Payment Estir t (0008) due to use yment Estimate Exc e current Payment	nate Item r baldwc2 eption 28	5	\$25.00	\$125.00
	0610		MISC.	Overrun			Adjustment from th nent estimates of '0 applied (if r	.00000' is	-3	\$100.00	(\$300.00														
	0610		MISC.	Overrun		generated Ove Adjustment overridding Pay	nt offsets the origina errun Payment Estir t (0009) due to use yment Estimate Exc e current Payment	nate Item r baldwc2 eption 29	3	\$100.00	\$300.00														
	5003	CURB AND GUTTE	ER TYPE B	Material					-250	\$44.21	(\$11,052.50														
	5003	CURB AND GUTT	ER TYPE B	Material		generated Ove Adjustment overridding Paym	nt offsets the origina errun Payment Estir t (0020) due to use nent Estimate Excep e current Payment	nate Item r baldwc2 otion 9 on	250	\$44.21	\$11,052.50														



Progress Estimate Number 6			Contract Prime Co			Pay Period Start Pay Period End	August 2, 2020 August 15, 2020	Net Cha	Contract Am nge Order Ar Contract Am	nount (S	\$2,019,473.21 (\$13,414.37) \$2,006,058.84	
Project Number	Line No.	Item Descripti	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount		
Total											(\$4,000.00)	



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

			Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work									
J4S3210	FAF 7-3(23)	Coldmill, resurface, ADA improvements and signal improvements	7	JACKSON	from Victor Drive to Wyatt Road in Blue Springs									

### Totals by Job Numbers

S3210	This Estimate	Previous	To Date
Posted Item Pay	\$4,000.00	\$1,952,873.76	\$1,956,873.76
Gross Item Adjustments	(\$4,000.00)	(\$64,827.78)	(\$68,827.78)
Gross Item Pay	\$0.00	\$1,888,045.98	\$1,888,045.98
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Period			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 4030004, Project Item Line Number 0040, Material Set 403000496, Material 0403SP095B - Superpave 9.5 mm, Des B, Acceptance Action Generic AspHigh is insufficient.	Waiting for materials to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6089902, Project Item Line Number 0090, Material Set 6081000, Material 0500XX - Concrete Plant Inspection Review, Acceptance Action Generic 0500XX is insufficient.	Waiting for materials to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6089902, Project Item Line Number 0090, Material Set 6081000, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting on 28 day concrete cylinder breaks.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6169902, Project Item Line Number 0250, Material Set 6081010, Material 0500XX - Concrete Plant Inspection Review, Acceptance Action Generic 0500XX is insufficient.	Waiting for materials to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6083006, Project Item Line Number 0070, Material Set 608300696, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Waiting for materials to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6083006, Project Item Line Number 0070, Material Set 608300696, Material 1055CMMLT2 - White Pavement Cure (non-dissipating) @, Acceptance Action Generic 1055CMMLT2 is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6086004, Project Item Line Number 0080, Material Set 608600496, Material 0501CCPAQCQA - Concrete, Pavment contractor mix or QCQA, Acceptance Action Generic 0501CCPAQCQA is insufficient.	Construction will report.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6086004, Project Item Line Number 0080, Material Set 608600496, Material 1055CMMLT2 - White Pavement Cure (non-dissipating) @, Acceptance Action Generic 1055CMMLT2 is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6091052, Project Item Line Number 5003, Material Set 609105296, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Waiting for materials to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6091052, Project Item Line Number 5003, Material Set 609105296, Material 0501CCB. A - Concrete, Class B w/Air, Acceptance Action Generic 0501CCB. A is insufficient.	Waiting on 28 day concrete cylinder breaks.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6091052, Project Item Line Number 5003, Material Set 609105296, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	Waiting for Jeff Cityto report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6131015, Project Item Line Number 0150, Material Set 6131015, Material 1057JMDBEC6.10 - Dowel Bar Epoxy Ctd Gr60 1" @, Acceptance Action Generic ReinforcingMisc is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6133018, Project Item Line Number 0160, Material Set 613301896, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	Construction will report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6205902A, Project Item Line Number 0320, Material Set 6205902A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on retro readings.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 6205903A, Project Item Line Number 0330, Material Set 6205903A96, Material 0620PMLI - Pavement Marking Performance Line, Acceptance Action Generic 0620PMLI is insufficient.	Waiting on retro readings.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 8051000A, Project Item Line Number 0370, Material Set 8051000A96, Material 0801AG - Agricultural Lime -Effective Nuetralizer, Acceptance Action Generic 0801AG is insufficient.	Waiting on certs from contractor.	baldwc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 8051000A, Project Item Line Number 0370, Material Set 8051000A96, Material 0801FZ - Fertilizer, Acceptance Action Generic 0801FZ is insufficient.	Waiting on certs from contractor.	baldwc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 8051000A, Project Item Line Number 0370, Material Set 8051000A96, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Waiting on certs from contractor.	baldwc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 9020833, Project Item Line Number 0420, Material Set 9020833, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 9029100, Project Item Line Number 0490, Material Set 902910096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Waiting for materials to adjust requirements.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 9029100, Project Item Line Number 0490, Material Set 902910096, Material 1036RSDFPL42M13 - Reinforcing Steel No. 4/M13 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J4S3210, Item 9029100, Project Item Line Number 0490, Material Set 902910096, Material 1036RSDFPL42M19 - Reinforcing Steel No. 6/M19 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Waiting for Jeff City to report material.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0320, Contract Line Item Number 0320, Item 6205902A, Minor Item.	Waiting on change order to be processed.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0350, Contract Line Item Number 0350, Item 6221001, Minor Item.	Waiting for change order to be processed.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item	Waiting on change order to be processed.	baldwc2	Overridden



# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Line Number 0370, Contract Line Item Number 0370, Item 8051000A, Minor Item.			
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0530, Contract Line Item Number 0530, Item 9031010, Minor Item.	Waiting on change order to be processed.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0580, Contract Line Item Number 0580, Item 9031280, Minor Item.	Waiting on change order to be processed.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0600, Contract Line Item Number 0600, Item 9035004A, Minor Item.	Waiting on change order to be processed.	baldwc2	Overridden
Estimate Exception Type: Item Overrun: Contract 191018-C02, Contract Project J4S3210, Project Item Line Number 0610, Contract Line Item Number 0610, Item 9039902, Minor Item.	Waiting on change order to be processed.	baldwc2	Overridden



### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

				eport Generated date and can differ from the posted amo	ount at the t	ime the Es	timate was	Generate				
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-C02	J4S3210	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$101,129.50	\$101,129.50
		0001	0020	2079909	MISC.LINEAR GRADING FOR SIDEWALK	26.60	-3.60	23.00	STA	23.00	\$1,227.25	\$28,226.75
		0001	0030	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	214.00	-214.00	0.00	SQYD	0.00	\$16.85	\$0.00
		0001	0040	4030004	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)	11,187.70	-234.60	10,953.10	TONS	10,428.50	\$68.23	\$711,536.56
		0001	0050	4071006	TACK COAT - POLYMER MODIFIED	11,130.00	-11,130.00	0.00	GAL	0.00	\$2.65	\$0.00
		0001	0060	5021310	CONCRETE PAVEMENT (10 IN. NON-REINFORCED 15 FT. JOINTS)	217.90	-217.90	0.00	SQYD	0.00	\$65.15	\$0.00
		0001	0070	6083006	6 IN. CONCRETE MEDIAN STRIP	166.70	0.00	166.70	SQYD	166.70	\$80.20	\$13,369.34
		0001	0080	6086004	CONCRETE SIDEWALK, 4 IN.	1,578.70	-200.70	1,378.00	SQYD	1,378.00	\$54.35	\$74,894.30
		0001	0090	6089902	MISC.RAMPED MEDIAN NOSE	2.00	3.00	5.00	EA	5.00	\$1,655.95	\$8,279.75
		0001	0100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.00
		0001	0110	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	216.40	15.90	232.30	SQYD	232.30	\$281.55	\$65,404.06
		0001	0120	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	22.00	-22.00	0.00	SQYD	0.00	\$1.15	\$0.00
		0001	0130	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	22.00	-22.00	0.00	SQYD	0.00	\$1.15	\$0.00
		0001	0140	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	792.00	41.00	833.00	LF	833.00	\$2.00	\$1,666.00
		0001	0150	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	420.00	109.00	529.00	EA	529.00	\$6.25	\$3,306.25
		0001	0160	6133018	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	53.40	16.60	70.00	TONS	70.00	\$270.48	\$18,933.60
		0001	0170	6133019	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	155.60	154.40	310.00	SQYD	310.00	\$124.28	\$38,526.80
		0001	0180	6161005	CONSTRUCTION SIGNS	767.00	102.00	869.00	SQFT	869.00	\$4.00	\$3,476.00
		0001	0190	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	0.00	\$15.00	\$0.00
		0001	0200	6161009	FLAG ASSEMBLY	2.00	1.00	3.00	EA	3.00	\$14.00	\$42.00
		0001	0210	6161025	CHANNELIZER (TRIM LINE)	213.00	125.00	338.00	EA	338.00	\$33.00	\$11,154.00
		0001	0220	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	2.00	\$2,000.00	\$4,000.00
		0001	0230	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0001	0240	6169902	MISC.ADA COMPLIANT MOVEABLE BARRICADE	6.00	30.00	36.00	EA	36.00	\$41.00	\$1,476.00
		0001	0250	6169902	MISC.ADA RAMPS	53.00	1.00	54.00	EA	54.00	\$1,695.45	\$91,554.30
		0001	0260	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$205,867.25	\$0.00
		0001	0261	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$195,938.25	\$195,938.25
		0001	0270	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	718.00	-81.00	637.00	LF	611.00	\$16.00	\$9,776.00
		0001	0280	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	77.00	-3.00	74.00	EA	71.00	\$250.00	\$17,750.00
		0001	0290	6200024	PREFORMED THERMOPLASTIC PAVEMENT MARKING, STRAIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$250.00	\$0.00
		0001	0300	6200027	PREFORMED THERMOPLASTIC PAVEMENT MARKING, COMBINATION STR/LT/RT	1.00	0.00	1.00	EA	1.00	\$450.00	\$450.00
		0001	0310	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	144.00	-26.00	118.00	EA	96.00	\$125.00	\$12,000.00
		0001	0320	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	38,864.00	0.00	38,864.00	LF	39,408.00	\$0.16	\$6,305.28
		0001	0330	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	31,762.00	0.00	31,762.00	LF	31,607.00	\$0.16	\$5,057.12
		0001	0340	6209902	MISC.THERMOPLASTIC PAVEMENT MARKING BICYCLE LANE SYMBOL	118.00	0.00	118.00	EA	112.00	\$300.00	\$33,600.00
		0001	0350	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	110,894.00	-2,201.40	108,692.60	SQYD	112,105.00	\$1.66	\$186,094.30
		0001	0360	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$15,000.00	\$0.00
		0001	0370	8051000A	SEEDING - COOL SEASON MIXTURES	0.20	0.00	0.20	ACRE	0.40	\$10,000.00	\$4,000.00
		0030	0380	9020513	SIGNAL HEAD, TYPE 3B	1.00	0.00	1.00	EA	1.00	\$1,200.00	\$1,200.00
		0030	0390	9020514	SIGNAL HEAD, TYPE 4B	6.00	0.00	6.00	EA	6.00	\$1,400.00	\$8,400.00
		0030	0400	9020811	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	22.00	0.00	22.00	EA	22.00	\$575.00	\$12,650.00
		0030	0410	9020821	SIGNAL HEAD, TYPE 11S, PEDESTRIAN	1.00	0.00	1.00	EA	1.00	\$1,150.00	\$1,150.00
		0030	0420	9020833	SH-FLAT SHEET - SIGNAL SIGN	76.00	0.00	76.00	SQFT	76.00	\$50.50	\$3,838.00



### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-C02	J4S3210	0030	0430	9020834	SIGNAL SIGN, MOUNTING HARDWARE	24.00	0.00	24.00	EA	24.00	\$195.00	\$4,680.00
		0030	0440	9022708	POST, SIGNAL 8 FT. OR 2.4 M	23.00	-3.00	20.00	EA	20.00	\$1,080.00	\$21,600.00
		0030	0450	9024975	VIDEO DETECTION SYSTEM	4.00	0.00	4.00	EA	4.00	\$18,020.00	\$72,080.00
		0030	0460	9025300	CONDUIT, 3 IN., TRENCH WITH TRACER WIRE	478.00	-159.00	319.00	LF	319.00	\$35.00	\$11,165.00
		0030	0470	9028308	CABLE, 16 AWG 2 CONDUCTOR	4,360.00	671.00	5,031.00	LF	5,031.00	\$1.80	\$9,055.80
		0030	0480	9028310	CABLE, 16 AWG 5 CONDUCTOR	4,380.00	749.00	5,129.00	LF	5,129.00	\$1.95	\$10,001.55
		0030	0490	9029100	BASE, CONCRETE	10.10	-1.30	8.80	CUYD	8.80	\$2,420.00	\$21,296.00
		0030	0500	9029902	MISC.ACCESSIBLE PEDESTRIAN SIGNALS (PUSHBUTTONS)	24.00	0.00	24.00	EA	24.00	\$725.00	\$17,400.00
		0030	0510	9029902	MISC.PULLBOX RELOCATION	3.00	-2.00	1.00	EA	1.00	\$2,385.00	\$2,385.00
		0030	0520	9029902	MISC.SIGNAL BASE CONCRETE REPAIR	2.00	0.00	2.00	EA	2.00	\$1,700.00	\$3,400.00
		0040	0530	9031010	CONCRETE FOOTINGS, EMBEDDED	3.60	0.00	3.60	CUYD	3.99	\$1,000.00	\$3,990.00
		0040	0540	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE)	32.00	0.00	32.00	EA	32.00	\$250.00	\$8,000.00
		0040	0550	9031270A	2 IN. PSST POST - 12 GA.	40.00	0.00	40.00	LF	40.00	\$15.00	\$600.00
		0040	0560	9031272	2.25 IN. PSST POST - 12 GA.	192.00	0.00	192.00	LF	192.00	\$15.00	\$2,880.00
		0040	0570	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	12.00	0.00	12.00	LF	12.00	\$50.00	\$600.00
		0040	0580	9031280	2.5 IN. PSST POST - 12 GA.	477.00	0.00	477.00	LF	492.00	\$15.00	\$7,380.00
		0040	0590	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	96.00	0.00	96.00	LF	96.00	\$50.00	\$4,800.00
		0040	0600	9035004A	SH-FLAT SHEET	293.00	0.00	293.00	SQFT	298.00	\$25.00	\$7,450.00
		0040	0610	9039902	MISC.RELOCATE EXISTING SIGN	37.00	0.00	37.00	EA	40.00	\$100.00	\$4,000.00
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$9,929.00	\$9,929.00
		0001	5002	4071005	TACK COAT	0.00	10,909.80	10,909.80	GAL	10,909.80	\$2.50	\$27,274.50
		0001	5003	6091052	CURB AND GUTTER TYPE B	0.00	250.00	250.00	LF	250.00	\$44.21	\$11,052.50
		0001	5004	2029901	MISC.(REMOVAL OF CURB AND GUTTER and MEDIAN NOSES)	0.00	1.00	1.00	LS	1.00	\$7,670.25	\$7,670.25
		0030	5007	9029902	MISC.EXTENSIONS FOR PEDESTRIAN POLE PUSH BUTTONS	0.00	5.00	5.00	EA	0.00	\$182.49	\$0.00
	Project J	4S3210 - To	otal Value	Posted to E	Date as of Report Generated Date							\$1,956,873.76
191018-C02 Ove	erall - Total	Value Pos	ted to Da	te as of Rep	ort Generated Date							\$1,956,873.76



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J4S3210

Li Nur	e Item ber Code	Description		DWR Approval Date		Units	Location		Offset/ Distance		Offset/ Distance	Comments
C	370 8051000A	SEEDING - COOL SEASON MIXTURES	8/12/20	8/17/20	0.40	ACRE	MO 7	9.544		12.233		

The information below this line are details from Line Item agency views. No Agency View Details Exist



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks	
0040	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B	Material	Туре	4	Jul 16, 2020	SYSTEM	(\$711,536.56)		
	MIX)			4	Jul 16, 2020	SYSTEM	\$711,536.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0057) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
				5	Aug 4, 2020	SYSTEM	(\$711,536.56)		
				5	Aug 4, 2020	SYSTEM	\$711,536.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0032) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
				6	Aug 17, 2020	SYSTEM	(\$711,536.56)		
				6	Aug 17, 2020	SYSTEM	\$711,536.56	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)		ACAD	3	Jul 1, 2020	baldwc2	(\$1,935.89)	6.23.2020	
				3	Jul 1, 2020	baldwc2	(\$1,278.61)	6.24.2020	
				3	Jul 1, 2020	baldwc2	(\$2,308.10)	6.25.2020	
				3	Jul 1, 2020	baldwc2	(\$2,060.11)	6.26.2020	
				3	Jul 1, 2020	baldwc2	(\$4,017.66)	6.27.2020	
				3	Jul 1, 2020	baldwc2	(\$3,743.15)	6.28.2020	
				3	Jul 1, 2020	baldwc2	(\$3,219.42)	6.29.2020	
				3	Jul 1, 2020	baldwc2	(\$3,375.62)	6.30.2020	
					4	Jul 16, 2020	baldwc2	(\$4,459.40)	7.1.2020
				4	Jul 16, 2020	baldwc2	(\$3,033.08)	7.6.2020	
				4	Jul 16, 2020	baldwc2	(\$892.54)	7.7.2020	
				4	Jul 16, 2020	baldwc2	\$3,219.42	This will correct the adjustment for 6.29.2020. The wrong quantity was paid.	
				4	Jul 16, 2020	baldwc2	(\$3,296.56)	This will correct the adjustment for 6.29.2020. The wrong quantity was paid.	
			ACAD - Tot				(\$30,400.72)		
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)		FUEL		Jul 16, 2020	baldwc2	\$908.99	This is to correct the adjustment for the correct quantity placed on 7.7.2020.	
				4	Jul 16, 2020	baldwc2	(\$833.34)	This is correct the adjustment for the right quantity placed on 7.7.2020.	
				4	Jul 16, 2020	baldwc2	\$4,124.88	This is to correct the adjustment made on 6.29.2020. The wrong quantity was paid.	
				4	Jul 16, 2020	baldwc2	(\$4,223.72)	This is to correct the adjustment made on 6.29.2020. The wrong quantity was paid.	
			FUEL - Tota	1			(\$23.19)		
	Other Item Adjustment - Total						(\$30,423.91)		
	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095B MIX)	Price		3	Jul 1, 2020	SYSTEM	(\$28,108.81)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
			- Total	4	Jul 16, 2020	SYSTEM	(\$7,904.45)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL	
							(\$36,013.26)		
0.000	Price - Total						(\$36,013.26)		
	Total						(\$66,437.17)		
050	TACK COAT - POLYMER MODIFIED	Material		3	Jul 1, 2020	SYSTEM	(\$25,371.10)		



Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks								
0050	TACK COAT - POLYMER		Туре	3	Jul 1,	SYSTEM	\$25,371.10	This adjustment offsets the original system-generated Overrun Payment								
	MODIFIED				2020		v - y	Estimate Item Adjustment (0009) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.								
			- Total				\$0.00									
	Material - Total						\$0.00									
050 -	Total						\$0.00									
070	6 IN. CONCRETE MEDIAN STRIP	Material		4	Jul 16, 2020	SYSTEM	(\$13,369.34)									
				4	Jul 16, 2020	SYSTEM	\$13,369.34	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0058) due to user baldwc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.								
				5	Aug 4, 2020	SYSTEM	(\$13,369.34)									
				5	Aug 4, 2020	SYSTEM	\$13,369.34	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0033) due to user baldwc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.								
				6	Aug 17, 2020	SYSTEM	(\$13,369.34)									
				6	Aug 17, 2020	SYSTEM	\$13,369.34	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user baldwc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.								
			- Total				\$0.00									
	Material - Total						\$0.00									
070	Total						\$0.00									
080	CONCRETE SIDEWALK, 4 IN.	Material		2	Jun 16, 2020	SYSTEM	(\$57,697.96)									
				2	Jun 16, 2020	SYSTEM	\$57,697.96	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user baldwc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
												3	Jul 1, 2020	SYSTEM	(\$73,318.15)	
									3	Jul 1, 2020	SYSTEM	\$73,318.15	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) due to user baldwc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.			
					4	Jul 16, 2020	SYSTEM	(\$74,894.30)								
				4	Jul 16, 2020	SYSTEM	\$74,894.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0059) due to user baldwc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.								
				5	Aug 4, 2020	SYSTEM	(\$74,894.30)									
				5	Aug 4, 2020	SYSTEM	\$74,894.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0034) due to user baldwc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.								
				6	Aug 17, 2020	SYSTEM	(\$74,894.30)									
				6	Aug 17, 2020	SYSTEM	\$74,894.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0012) due to user baldwc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.								
			- Total				\$0.00									
	Material - Total						\$0.00									
080 -	Total						\$0.00									
090		Material		4	Jul 16, 2020	SYSTEM	(\$3,311.90)									
				4	Jul 16, 2020	SYSTEM	\$3,311.90	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0060) due to user baldwc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.								
				5	Aug 4, 2020	SYSTEM	(\$8,279.75)									
				5	Aug 4, 2020	SYSTEM	\$8,279.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0035) due to user baldwc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.								
				6	Aug 17, 2020	SYSTEM	(\$8,279.75)									
				6	Aug 17, 2020	SYSTEM	\$8,279.75	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user baldwc2 overridding								



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0090	MISC. RAMPED MEDIAN NOSE	Material						Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0090 -							\$0.00	
0100	TRUCK OR TRAILER MOUNTED	Material		1	Jun 3,	SYSTEM	(\$2,500.00)	
0100	ATTENUATOR (TMA)	Material			2020	OTOTEM	(\$2,500.00)	
				2	Jun 16, 2020	SYSTEM	(\$2,500.00)	
				3	Jul 1, 2020	SYSTEM	(\$2,500.00)	
			- Total				(\$7,500.00)	
	Material - Total						(\$7,500.00)	
	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	MaterialCredit		2	Jun 16, 2020	SYSTEM	\$2,500.00	
				3	Jul 1, 2020	SYSTEM	\$2,500.00	
				4	Jul 16, 2020	SYSTEM	\$2,500.00	
			- Total				\$7,500.00	
	MaterialCredit - Total						\$7,500.00	
0100 -							\$0.00	
0110	FURNISHING AND PLACING	Material		2	Jun 16,	SYSTEM	(\$65,404.06)	
	CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT	Material		2	2020 Jun 16,	SYSTEM	\$65,404.06	This adjustment offsets the original system-generated Overrun Payment
	REPAIR			-	2020	or or Lim	<i>Q</i> 00, 10 1100	Estimate Item Adjustment (0008) due to user baldwc2 overridding Payment Estimate Exception 6 on the current Payment Estimate.
				3	Jul 1, 2020	SYSTEM	(\$65,404.06)	
				3	Jul 1, 2020	SYSTEM	\$65,404.06	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$65,404.06)	
				4	Jul 16, 2020	SYSTEM	\$65,404.06	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0062) due to user baldwc2 overridding Payment Estimate Exception 17 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	FURNISHING AND PLACING CONCRETE MATERIAL FOR	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$4,476.65)	
	FULL DEPTH PAVEMENT REPAIR			2	Jun 16, 2020	SYSTEM	\$4,476.65	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) overridding Payment Estimate Exception 16 on the current Payment Estimate.
				3	Jul 1, 2020	SYSTEM	(\$4,476.65)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				3	Jul 1, 2020	SYSTEM	\$4,476.65	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) overridding Payment Estimate Exception 21 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0110 -	Total						\$0.00	
0140	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$82.00)	
	PERIMETER AND INTERNAL SAW CUTS)			4	Jul 16, 2020	SYSTEM	\$82.00	Unit price based on averaged overrun adjustments for installed quantity o all previous payment estimates. Price Adjustments of ',2.00000 - 2.00000
								'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0140 -	Total						\$0.00	
0150	DOWEL BAR (DRILLING, FURNISHING AND	Material		2	Jun 16, 2020	SYSTEM	(\$3,306.25)	
	INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR			2	Jun 16,	SYSTEM	\$3,306.25	This adjustment offsets the original system-generated Overrun Payment



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0150	DOWEL BAR (DRILLING, FURNISHING AND	Material			2020			Estimate Item Adjustment (0011) due to user baldwc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
	INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR			3	Jul 1, 2020	SYSTEM	(\$3,306.25)	
				3	Jul 1, 2020	SYSTEM	\$3,306.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$3,306.25)	
				4	Jul 16, 2020	SYSTEM	\$3,306.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0063) due to user baldwc2 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$3,306.25)	
				5	Aug 4, 2020	SYSTEM	\$3,306.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0036) due to user baldwc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$3,306.25)	
				6	Aug 17, 2020	SYSTEM	\$3,306.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0014) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	DOWEL BAR (DRILLING, FURNISHING AND	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$681.25)	
	FURNISHING AND INSTALLATION FOR FULL DEPTH PAVEMENT REPAIR			2	Jun 16, 2020	SYSTEM	\$681.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0010) overridding Payment Estimate Exception 18 on the current Payment Estimate.
				3	Jul 1, 2020	SYSTEM	(\$681.25)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				3	Jul 1, 2020	SYSTEM	\$681.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) overridding Payment Estimate Exception 23 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0150 -	Total						\$0.00	
0160	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR	Material		6	Aug 17, 2020	SYSTEM	(\$18,933.60)	
	CLASS B PARTIAL DEPTH PAVEMENT REPAIR			6	Aug 17, 2020	SYSTEM	\$18,933.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user baldwc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS B PARTIAL DEPTH PAVEMENT REPAIR	Other Item Adjustment	ACAD	3	Jul 1, 2020	baldwc2	(\$170.36)	6.6.2020
			ACAD - Tota	al			(\$170.36)	
	Other Item Adjustment - Total						(\$170.36)	
0160 -	Total						(\$170.36)	
0170	REMOVAL FOR CLASS B PARTIAL DEPTH PAVEMENT	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$3,902.39)	
	REPAIR			4	Jul 16, 2020	SYSTEM	\$3,902.39	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',124.28000 - 124.28000, 'is applied (if non-zero).
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0170 -	Total						\$0.00	
0180	CONSTRUCTION SIGNS	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$132.00)	
				4	Jul 16, 2020	SYSTEM	\$132.00	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.00000 - 4.00000, 'is applied (if non-zero).



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks	
0180		Overrun	Overrun - T	otal			\$0.00		
	Overrun - Total						\$0.00		
0180	- Total						\$0.00		
0200	FLAG ASSEMBLY	Overrun	Overrun	2	Jun 16, 2020	SYSTEM	(\$14.00)		
				4	Jul 16, 2020	SYSTEM	\$14.00	Unit price based on averaged overrun adjustments for installed quantity or all previous payment estimates. Price Adjustments of ',14.00000 - 14.00000, 'is applied (if non-zero).	
			Overrun - T	otal			\$0.00		
	Overrun - Total						\$0.00		
200	- Total						\$0.00		
)250	MISC. ADA RAMPS	Material		2	Jun 16, 2020	SYSTEM	(\$55,949.85)		
				2	Jun 16, 2020	SYSTEM	\$55,949.85	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user baldwc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	
				3	Jul 1, 2020	SYSTEM	(\$84,772.50)		
				3	Jul 1, 2020	SYSTEM	\$84,772.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0011) due to user baldwc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	
				4	Jul 16, 2020	SYSTEM	(\$91,554.30)		
				4	Jul 16, 2020	SYSTEM	\$91,554.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0042) due to user baldwc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.	
			5	Aug 4, 2020	SYSTEM	(\$91,554.30)			
					5	Aug 4, 2020	SYSTEM	\$91,554.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0037) due to user baldwc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$91,554.30)		
				6	Aug 17, 2020	SYSTEM	\$91,554.30	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 4 on the current Payment Estimate.	
			- Total				\$0.00		
	Material - Total						\$0.00		
	MISC. ADA RAMPS	Overrun	Overrun	4	Jul 16, 2020	SYSTEM	\$1,695.45	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) overridding Payment Estimate Exceptio 37 on the current Payment Estimate.	
				4	Jul 16, 2020	SYSTEM	(\$1,695.45)		
			Overrun - T	otal			\$0.00		
	Overrun - Total						\$0.00		
250	- Total						\$0.00		
)320	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT	Material		4	Jul 16, 2020	SYSTEM	(\$6,305.28)		
	MARKING PAINT, TYPE L BEADS			4	Jul 16, 2020	SYSTEM	\$6,305.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0045) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.	
				-	Aug 4,	SYSTEM	(\$6,305.28)		
				5	2020				
				5		SYSTEM	\$6,305.28	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user baldwc2 overridding Payment Estimate Exception 17 on the current Payment Estimate.	
					2020 Aug 4,	SYSTEM SYSTEM	\$6,305.28 (\$6,305.28)	Estimate Item Adjustment (0024) due to user baldwc2 overridding	
				5	2020 Aug 4, 2020 Aug 17,			Estimate Item Adjustment (0024) due to user baldwc2 overridding	
			- Total	5	2020 Aug 4, 2020 Aug 17, 2020 Aug 17,	SYSTEM	(\$6,305.28)	Estimate Item Adjustment (0024) due to user baldwc2 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user baldwc2 overridding	
	Material - Total		- Total	5	2020 Aug 4, 2020 Aug 17, 2020 Aug 17,	SYSTEM	(\$6,305.28) \$6,305.28	Estimate Item Adjustment (0024) due to user baldwc2 overridding Payment Estimate Exception 17 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user baldwc2 overridding	



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0320	WATERBORNE PAVEMENT MARKING PAINT, TYPE L	Overrun	Overrun		2020			Estimate Item Adjustment (0044) overridding Payment Estimate Exception 38 on the current Payment Estimate.
	BEADS			4	Jul 16, 2020	SYSTEM	(\$87.04)	
				5	Aug 4, 2020	SYSTEM	(\$87.04)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				5	Aug 4, 2020	SYSTEM	\$87.04	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) overridding Payment Estimate Exception 23 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$87.04)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Aug 17, 2020	SYSTEM	\$87.04	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) overridding Payment Estimate Exception 23 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0320 -	Total						\$0.00	
0330	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT	Material		4	Jul 16, 2020	SYSTEM	(\$5,057.12)	
	MARKING PAINT, TYPE L BEADS			4	Jul 16, 2020	SYSTEM	\$5,057.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0064) due to user baldwc2 overridding Payment Estimate Exception 21 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$5,057.12)	
				5	Aug 4, 2020	SYSTEM	\$5,057.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0038) due to user baldwc2 overridding Payment Estimate Exception 18 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$5,057.12)	
				6	Aug 17, 2020	SYSTEM	\$5,057.12	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0017) due to user baldwc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0330 -	Total						\$0.00	
0350	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR	Overrun	Overrun	4	Jul 16, 2020	SYSTEM	(\$5,664.58)	
	LESS)			4	Jul 16, 2020	SYSTEM	\$5,664.58	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0056) due to user baldwc2 overridding Payment Estimate Exception 39 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$5,664.58)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				5	Aug 4, 2020	SYSTEM	\$5,664.58	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$5,664.58)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Aug 17, 2020	SYSTEM	\$5,664.58	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user baldwc2 overridding Payment Estimate Exception 24 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
							\$0.00	
0350 -	Total							
		Material		6	Aug 17, 2020	SYSTEM	(\$4,000.00)	
	Total SEEDING - COOL SEASON MIXTURES	Material	- Total	6		SYSTEM	(\$4,000.00)	
	Total SEEDING - COOL SEASON	Material	- Total	6		SYSTEM		
0350 · 0370	Total SEEDING - COOL SEASON MIXTURES	Material Overrun	- Total Overrun			SYSTEM	(\$4,000.00)	
	Total SEEDING - COOL SEASON MIXTURES Material - Total SEEDING - COOL SEASON				2020 Aug 17,		(\$4,000.00) (\$4,000.00)	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) overridding Payment Estimate Exception 25 on the current Payment Estimate.
	Total SEEDING - COOL SEASON MIXTURES Material - Total SEEDING - COOL SEASON			6	2020 Aug 17, 2020 Aug 17,	SYSTEM	(\$4,000.00) (\$4,000.00) (\$2,000.00)	Estimate Item Adjustment (0004) overridding Payment Estimate Exception



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0370	- Total						(\$4,000.00)	
0400	SIGNAL HEAD, TYPE 1S, PEDESTRIAN	Material		4	Jul 16, 2020	SYSTEM	(\$12,650.00)	
				4	Jul 16, 2020	SYSTEM	\$12,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0065) due to user baldwc2 overridding Payment Estimate Exception 22 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0400	Total						\$0.00	
0410	SIGNAL HEAD, TYPE 11S, PEDESTRIAN	Material		4	Jul 16, 2020	SYSTEM	(\$1,150.00)	
				4	Jul 16, 2020	SYSTEM	\$1,150.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0066) due to user baldwc2 overridding Payment Estimate Exception 23 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0410	· Total						\$0.00	
0420	SH-FLAT SHEET - SIGNAL SIGN	Material		4	Jul 16, 2020	SYSTEM	(\$3,838.00)	
				4	Jul 16, 2020	SYSTEM	\$3,838.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0067) due to user baldwc2 overridding Payment Estimate Exception 24 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$3,838.00)	
				5	Aug 4, 2020	SYSTEM	\$3,838.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0039) due to user baldwc2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
					6	Aug 17, 2020	SYSTEM	(\$3,838.00)
				6	Aug 17, 2020	SYSTEM	\$3,838.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding Payment Estimate Exception 19 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0420	- Total						\$0.00	
0440	POST, SIGNAL 8 FT. OR 2.4 M	Material		4	Jul 16, 2020	SYSTEM	(\$21,600.00)	
				4	Jul 16, 2020	SYSTEM	\$21,600.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0068) due to user baldwc2 overridding Payment Estimate Exception 25 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
			144 TI	-			ψ0.00	
	POST, SIGNAL 8 FT. OR 2.4 M	Other Item Adjustment	MATL	5	Aug 3, 2020	baldwc2	\$1,779.75	
	POST, SIGNAL 8 FT. OR 2.4 M		MATL - Tota			baldwc2		3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional
	POST, SIGNAL 8 FT. OR 2.4 M Other Item Adjustment - Total					baldwc2	\$1,779.75	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional
0440 -						baldwc2	\$1,779.75 \$1,779.75	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional
<b>0440</b> - 0450	Other Item Adjustment - Total	Adjustment				baldwc2	\$1,779.75 \$1,779.75 \$1,779.75	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional
	Other Item Adjustment - Total Total	Adjustment		al	2020 Jul 1,		\$1,779.75 \$1,779.75 \$1,779.75 \$1,779.75	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional
	Other Item Adjustment - Total Total	Adjustment		al 3	2020 Jul 1, 2020 Jul 1,	SYSTEM	\$1,779.75 \$1,779.75 \$1,779.75 \$1,779.75 (\$36,040.00)	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional cost for overhead) This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding
	Other Item Adjustment - Total Total	Adjustment		al 3 3	2020 Jul 1, 2020 Jul 1, 2020 Jul 16,	SYSTEM	\$1,779.75 \$1,779.75 \$1,779.75 \$1,779.75 (\$36,040.00) \$36,040.00	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional cost for overhead) This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding
	Other Item Adjustment - Total Total	Adjustment		3 3 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	\$1,779.75 \$1,779.75 \$1,779.75 \$1,779.75 (\$36,040.00) \$36,040.00 (\$72,080.00)	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional cost for overhead) This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0069) due to user baldwc2 overridding
	Other Item Adjustment - Total Total	Adjustment	MATL - Tota	3 3 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	\$1,779.75 \$1,779.75 \$1,779.75 (\$36,040.00) \$36,040.00 (\$72,080.00) \$72,080.00	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional cost for overhead) This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0069) due to user baldwc2 overridding
0450	Other Item Adjustment - Total Total VIDEO DETECTION SYSTEM	Adjustment	MATL - Tota	3 3 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	\$1,779.75 \$1,779.75 \$1,779.75 (\$36,040.00) \$36,040.00 (\$72,080.00) \$72,080.00 \$72,080.00	3 units were received at the Stadium Signal Shop facility at a unit price per each of \$565.00 and a total amount of \$1,779.75 (includes a 5% additional cost for overhead) This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0069) due to user baldwc2 overridding



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
460	TRACER WIRE	Material			2020			
				2	Jun 16, 2020	SYSTEM	\$5,145.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0015) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
				3	Jul 1, 2020	SYSTEM	(\$8,295.00)	
				3	Jul 1, 2020	SYSTEM	\$8,295.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user baldwc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$11,165.00)	
				4	Jul 16, 2020	SYSTEM	\$11,165.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0070) due to user baldwc2 overridding Payment Estimate Exception 29 on the current Payment Estimate.
			- Total	1	1		\$0.00	
	Material - Total						\$0.00	
460	Total						\$0.00	
470		Material		3	Jul 1, 2020	SYSTEM	(\$9,055.80)	
				3	Jul 1, 2020	SYSTEM	\$9,055.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0021) due to user baldwc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$9,055.80)	
				4	Jul 16, 2020	SYSTEM	\$9,055.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0048) due to user baldwc2 overridding Payment Estimate Exception 30 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total					\$0.00		
		Overrun Overrun	3	Jul 1, 2020	SYSTEM	(\$1,207.80)		
				3	Jul 1, 2020	SYSTEM	\$1,207.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) overridding Payment Estimate Exception 27 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$1,207.80)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				4	Jul 16, 2020	SYSTEM	\$1,207.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0047) overridding Payment Estimate Exception 40 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$1,207.80)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				5	Aug 4, 2020	SYSTEM	\$1,207.80	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0026) due to user baldwc2 overridding Payment Estimate Exception 25 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
470	Total						\$0.00	
480	CABLE, 16 AWG 5 CONDUCTOR	Material		3	Jul 1, 2020	SYSTEM	(\$10,001.55)	
				3	Jul 1, 2020	SYSTEM	\$10,001.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0023) due to user baldwc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$10,001.55)	
				4	Jul 16, 2020	SYSTEM	\$10,001.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0051) due to user baldwc2 overridding Payment Estimate Exception 31 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	CABLE, 16 AWG 5 CONDUCTOR	Overrun	Overrun	3	Jul 1, 2020	SYSTEM	(\$1,460.55)	
				3	Jul 1, 2020	SYSTEM	\$1,460.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) overridding Payment Estimate Exception 28 on the current Payment Estimate.



Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
		Туре	Adjustment Type	Number	Date	Ву		
0480	CABLE, 16 AWG 5 CONDUCTOR	Overrun	Overrun		2020			estimates of '0.00000' is applied (if non-zero).
				4	Jul 16, 2020	SYSTEM	\$1,460.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0050) overridding Payment Estimate Exception 41 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$1,460.55)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				5	Aug 4, 2020	SYSTEM	\$1,460.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0027) due to user baldwc2 overridding Payment Estimate Exception 26 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0480 ·	- Total						\$0.00	
0490	BASE, CONCRETE	Material		3	Jul 1, 2020	SYSTEM	(\$12,777.60)	
				3	Jul 1, 2020	SYSTEM	\$12,777.60	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user baldwc2 overridding Payment Estimate Exception 16 on the current Payment Estimate.
				4	Jul 16, 2020	SYSTEM	(\$21,296.00)	
				4	Jul 16, 2020	SYSTEM	\$21,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0071) due to user baldwc2 overridding Payment Estimate Exception 32 on the current Payment Estimate.
				5	Aug 4, 2020	SYSTEM	(\$21,296.00)	
			5	Aug 4, 2020	SYSTEM	\$21,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0040) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.	
				6	Aug 17, 2020	SYSTEM	(\$21,296.00)	
				6	Aug 17, 2020	SYSTEM	\$21,296.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0019) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0490 -	- Total						\$0.00	
0530	CONCRETE FOOTINGS, EMBEDDED	Material		2	Jun 16, 2020	SYSTEM	(\$2,200.00)	
				0				
				2	Jun 16, 2020	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate.
				3		SYSTEM	\$2,200.00 (\$2,200.00)	Estimate Item Adjustment (0016) due to user baldwc2 overridding
					2020 Jul 1,			Estimate Item Adjustment (0016) due to user baldwc2 overridding
				3	2020 Jul 1, 2020 Jul 1,	SYSTEM	(\$2,200.00)	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding
				3	2020 Jul 1, 2020 Jul 1, 2020 Jul 16,	SYSTEM	(\$2,200.00) \$2,200.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding
			- Total	3 3 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00)	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding
	Material - Total		- Total	3 3 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding
	Material - Total CONCRETE FOOTINGS, EMBEDDED	Overrun	- Total Overrun	3 3 4 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16,	SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 \$0.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding
	CONCRETE FOOTINGS,	Overrun		3 3 4 4	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16, 2020	SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 \$0.00 \$0.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding
	CONCRETE FOOTINGS,	Overrun		3 3 4 4 5	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Jul 16, 2020 Jul 20, 2020 Aug 4, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 \$0.00 \$0.00 (\$390.00)	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate.
	CONCRETE FOOTINGS,	Overrun		3 3 4 4 5 5 5	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Aug 4, 2020 Aug 4, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 \$0.00 (\$390.00) \$390.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate.
	CONCRETE FOOTINGS,	Overrun		3 3 4 4 5 5 5 6 6	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Aug 4, 2020 Aug 4, 2020 Aug 17, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 \$0.00 (\$390.00) \$390.00 (\$390.00)	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user baldwc2 overridding Payment Estimate Exception 27 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user baldwc2 overridding
	CONCRETE FOOTINGS,	Overrun	Overrun	3 3 4 4 5 5 5 6 6	2020 Jul 1, 2020 Jul 1, 2020 Jul 16, 2020 Jul 16, 2020 Aug 4, 2020 Aug 4, 2020 Aug 17, 2020	SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM SYSTEM	(\$2,200.00) \$2,200.00 (\$3,600.00) \$3,600.00 (\$390.00 (\$390.00) \$390.00 \$390.00	Estimate Item Adjustment (0016) due to user baldwc2 overridding Payment Estimate Exception 10 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0025) due to user baldwc2 overridding Payment Estimate Exception 20 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0072) due to user baldwc2 overridding Payment Estimate Exception 36 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0028) due to user baldwc2 overridding Payment Estimate Exception 27 on the current Payment Estimate. Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero). This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0006) due to user baldwc2 overridding



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
)540	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Construction Stockpile		1	Jun 3, 2020	SYSTEM	\$5,184.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	TUBE)			2	Jun 16, 2020	SYSTEM	(\$5,022.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$162.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	Material		2	Jun 16, 2020	SYSTEM	(\$7,750.00)	
	TUBE)			2	Jun 16, 2020	SYSTEM	\$7,750.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user baldwc2 overridding Payment Estimate Exception 11 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
540	Total						\$0.00	
0550	2 IN. PSST POST - 12 GA.	Construction Stockpile		1	Jun 3, 2020	SYSTEM	\$154.00	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$154.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
)550	Total						\$0.00	
)560	2.25 IN. PSST POST - 12 GA.	Construction Stockpile		1	Jun 3, 2020	SYSTEM	\$806.40	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Jun 16, 2020	SYSTEM	(\$781.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$25.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	2.25 IN. PSST POST - 12 GA.	Material		2	Jun 16, 2020	SYSTEM	(\$2,790.00)	
				2	Jun 16, 2020	SYSTEM	\$2,790.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0018) due to user baldwc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
)560 ·	- Total						\$0.00	
0570	POST ANCHOR FOR 2 IN. PSST - 7 GA.	Construction Stockpile		1	Jun 3, 2020	SYSTEM	\$181.20	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$181.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
					2020			
			- Total		2020		\$0.00	
	Construction Stockpile - Total		- Total		2020		\$0.00 \$0.00	
)570	Construction Stockpile - Total Total		- Total		2020			
		Construction Stockpile	- Total	1	Jun 3, 2020	SYSTEM	\$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total		- Total	1	Jun 3,	SYSTEM SYSTEM	\$0.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total		- Total		Jun 3, 2020 Jun 16,		\$0.00 \$0.00 \$2,432.70	
	- Total		- Total	2	Jun 3, 2020 Jun 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 \$2,432.70 (\$2,371.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
	- Total			2	Jun 3, 2020 Jun 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 \$2,432.70 (\$2,371.50) (\$61.20)	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total 2.5 IN. PSST POST - 12 GA.			2	Jun 3, 2020 Jun 16, 2020 Jul 16,	SYSTEM	\$0.00 \$0.00 \$2,432.70 (\$2,371.50) (\$61.20) \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
	Total 2.5 IN. PSST POST - 12 GA. Construction Stockpile - Total	Stockpile		2	Jun 3, 2020 Jun 16, 2020 Jul 16, 2020 Jun 16,	SYSTEM SYSTEM	\$0.00 \$0.00 \$2,432.70 (\$2,371.50) (\$61.20) \$0.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
0 <b>570</b> )	Total 2.5 IN. PSST POST - 12 GA. Construction Stockpile - Total	Stockpile		2 4 2	Jun 3, 2020 Jun 16, 2020 Jul 16, 2020 Jul 16, 2020 Jun 16,	SYSTEM SYSTEM SYSTEM	\$0.00 \$0.00 \$2,432.70 (\$2,371.50) (\$61.20) \$0.00 \$0.00 (\$6,975.00)	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user baldwc2 overridding



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0580	2.5 IN. PSST POST - 12 GA.	Overrun	Overrun	5	Aug 4, 2020	SYSTEM	(\$225.00)	
				5	Aug 4, 2020	SYSTEM	\$225.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0029) due to user baldwc2 overridding Payment Estimate Exception 28 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$225.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Aug 17, 2020	SYSTEM	\$225.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0007) due to user baldwc2 overridding Payment Estimate Exception 27 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
	Overrun - Total						\$0.00	
0580	- Total						\$0.00	
0590	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Construction Stockpile		1	Jun 3, 2020	SYSTEM	\$2,109.12	Payment Estimate Item Adjustment generated Stockpile Transaction
				2	Jun 16, 2020	SYSTEM	(\$2,043.21)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$65.91)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	Material		2	Jun 16, 2020	SYSTEM	(\$4,650.00)	
				2	Jun 16, 2020	SYSTEM	\$4,650.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0022) due to user baldwc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
0590	- Total						\$0.00	
0600	SH-FLAT SHEET			1	Jun 3, 2020	SYSTEM	\$3,149.75	Payment Estimate Item Adjustment generated Stockpile Transaction
	Stockpile			2	Jun 16, 2020	SYSTEM	(\$2,999.25)	Payment Estimate Item Adjustment generated Stockpile Transaction
				4	Jul 16, 2020	SYSTEM	(\$150.50)	Payment Estimate Item Adjustment generated Stockpile Transaction
			- Total				\$0.00	
	Construction Stockpile - Total						\$0.00	
	SH-FLAT SHEET	Material		2	Jun 16, 2020	SYSTEM	(\$6,975.00)	
				2	Jun 16, 2020	SYSTEM	\$6,975.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0024) due to user baldwc2 overridding Payment Estimate Exception 15 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
	SH-FLAT SHEET	Overrun	Overrun	5	Aug 4, 2020	SYSTEM	(\$125.00)	
				5	Aug 4, 2020	SYSTEM	\$125.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0030) due to user baldwc2 overridding Payment Estimate Exception 29 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$125.00)	Averaged Price Adjustment from this item on all previous payment estimates of '0.00000' is applied (if non-zero).
				6	Aug 17, 2020	SYSTEM	\$125.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0008) due to user baldwc2 overridding Payment Estimate Exception 28 on the current Payment Estimate.
			Overrun - T	otal			\$0.00	
							\$0.00	
	Overrun - Total						\$0.00	
06 <u>00</u>	Overrun - Total - Total							
0600 0610		Overrun	Overrun	5	Aug 4, 2020	SYSTEM	(\$300.00)	
	- Total MISC. RELOCATE EXISTING	Overrun	Overrun	5		SYSTEM SYSTEM	(\$300.00) \$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0031) due to user baldwc2 overridding Payment Estimate Exception 30 on the current Payment Estimate.



Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0610	MISC. RELOCATE EXISTING	Overrun	Overrun		2020			estimates of '0.00000' is applied (if non-zero).
	SIGN			6	Aug 17, 2020	SYSTEM	\$300.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0009) due to user baldwc2 overridding Payment Estimate Exception 29 on the current Payment Estimate.
	Overrun - Total						\$0.00	
	Overrun - Total						\$0.00	
0610 -	Total						\$0.00	
5002	TACK COAT	Material		4	Jul 16, 2020	SYSTEM	(\$27,274.50)	
				4	Jul 16, 2020	SYSTEM	\$27,274.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0073) due to user baldwc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total							
	Material - Total						\$0.00	
5002 -							\$0.00 \$0.00	
<b>5002</b> - 5003		Material		5	Aug 4, 2020	SYSTEM		
	Total	Material		5		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0041) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
	Total	Material			2020 Aug 4,		<b>\$0.00</b> (\$11,052.50)	Estimate Item Adjustment (0041) due to user baldwc2 overridding
	Total	Material		5	2020 Aug 4, 2020 Aug 17,	SYSTEM	\$0.00 (\$11,052.50) \$11,052.50	Estimate Item Adjustment (0041) due to user baldwc2 overridding
	Total	Material	- Total	5	2020 Aug 4, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$0.00 (\$11,052.50) \$11,052.50 (\$11,052.50)	Estimate Item Adjustment (0041) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user baldwc2 overridding
	Total	Material	- Total	5	2020 Aug 4, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$0.00 (\$11,052.50) \$11,052.50 (\$11,052.50) \$11,052.50	Estimate Item Adjustment (0041) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user baldwc2 overridding
	Total CURB AND GUTTER TYPE B Material - Total	Material	- Total	5	2020 Aug 4, 2020 Aug 17, 2020 Aug 17,	SYSTEM SYSTEM	\$0.00 (\$11,052.50) \$11,052.50) (\$11,052.50) \$11,052.50 \$0.00	Estimate Item Adjustment (0041) due to user baldwc2 overridding Payment Estimate Exception 9 on the current Payment Estimate. This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0020) due to user baldwc2 overridding